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R B BIEIET®H 4 [m &ErmETE B
MERE SHER KX 13 = ~ _ =N ED >
KB EE | LrEW | SRER | R |
BMEX F1R |FBILHEKR 462.84 460.86 460.86] 99.6
BRIk 187.85 184.36 184.36| 98.1
F1RETEXEE 650.69 645.22 0.00 645.22| 99.2
gor MBI /LA KK 50.30 49.68 49.68] 988
F2RETEIR AT 50.30 49.68 0.00 49.68| 988
#3x |FEHEIHIKE 150.90 144.15 0.00 144.15| 955
FEIRETEIXEE 150.90 144.15 0.00 14415 955
BENERXEE 851.89 839.05 0.00 839.05| 985
B )10 x gk | TALEFHEKRX 29.40 28.55 2855| 97.1
JEEBHE KX 175.30 174.05 174.05| 993
F2RETEIREET 204.70 202.60 0.00 202.60| 99.0
E3R |BTE - KEEFHEKX 65.70 58.63 58.63| 89.2
JLER KR 46.60 46.16 46.16| 991
HEE1HIKE 128.10 119.67 119.67| 934
HEE 28K 11343 105.66 105.66| 93.1
FEIREHEIREE 353.83 330.12 0.00 330.12| 933
FEAR (FBALE1HEKEX 884.10 762.94 762.94| 863
BAE1HKR (6 REHERX) 200.48 18.23 2.05 20.28[ 10.1
BlE2HkKR 487.84 449.74 0.50 450.24| 923
BEE1HKR 942.35 794.18 0.68 794.86| 843
BEE1HKX (6 REHEK) 288.62 49.38 12.59 61.97| 215
BrEE2HKkR 715.67 653.95 653.95| 914
BEE2HKX (6 REHERK) 51.40 0.00 0.00| 0.00
FARGTEIREE 3,570.46 2,728.42 15.82 2,744.24| 769
HEJIINEX & 4,128.99 3,261.14 15.82 3,276.96| 79.4
HEAKEF 4,980.88 4.100.19 15.82 4116.01| 826
Fatsh EAR [fBHE1NESX 557.00 433.19 433.19] 718
EHE2NESX 64.40 50.72 50.72| 7858
RHENESEX 57.00 52.03 52.03| 913
TR ESET 678.40 535.94 0.00 535.94| 79.0
EEERMER | |fERER X 105.68 97.48 97.48| 922
BERERE2EF 105.68 97.48 0.00 97.48| 922
AKRBUER [HRL | [EKEER 146.40 146.40 146.40[ 100.0
=R LN I 146.40 146.40 0.00 146.40| 100.0
EKERLER [kt Ak 96.00 96.00 96.00] 100.0
= LMEBR iy =l 42.10 40.07 4007| 95.2
BEREREEF 138.10 136.07 0.00 136.07| 985
BEHHAETKES 6,049.46 5,016.08 15.82 5,031.90| 832




